


MISSION SELECTION - SSC 2024

Q.1 In a certain code language, ‘APRON?” is written as
‘CNTMP’ and ‘EARTH’ is written as ‘GYTRJ’. How will
‘HEAVY’ be written in that language?/

U AT e WINT A, 'APRON' &1 'CNTMP' 3R '"EARTH'
1 'GYTRJ' feram ST 21 36T e WIT # '"HEAVY' 8
feraT stTom?

a) JCGUS
b) JGUTA
¢) JGCTA

d) JCCTA



MISSION SELECTION - SSC 2024
Q.2 Select the option that represents the letters that,

when placed from left to right in the given blanks,

will complete the letter series.

30 forehea &1 =Ea KU A 39 3TeR i AT
8 S fou 7o e T ® 910 | 910 WA WY e

AT qUT BT AT 21

DE_WG_EF_GDEFU_D_FTG
a) FDGVE
b) FDVGE
¢) DFFEV

d) DFVGF



MISSION SELECTION - SSC 2024

Q.3 Select the correct combination of mathematical
signs to replace the * signs and to balance the given

equation.

* It st aqer iR f3u Ty wteor @ d@qfera
o ToTu TTiuTe i ToIgt o TET EAii R T8 shiTU|
34 % 4% 15 %51 %27 * 9 * 40




MISSION SELECTION - SSC 2024
Q.4 It 28 February 2017 was Tuesday, then what

was the day of the week on 28 February
20192/ 28 WS 2017 i WTATR 9T, aF 28
HIET 2019 hT THTE T ki AT fo oar?
a) Thursday/TT&aAR
b) Saturday/IT=aR
¢) Friday/3Tshd¥
d) Monday/’\:ﬁ'qﬁl'l'{




MISSION SELECTION - SSC 2024

Q.5 How many triangles are there in the

given figure?/

&t g srreRfer # fohaw Bt ¥2

&

AN




MISSION SELECTION - SSC 2024

Q.6 Seven friends M, N, O, P, Q, R and S, each has a different
age. Only two people are older than Q. P is older than Q but
younger than O. M is older than R but younger than S. Only
three people are younger than S. N is the youngest among all.
The age of how many persons is between the ages of Q and R?/
|1 T M, N, O, P, Q, R 3R S, Teieh 3T SAET-31eTT 1Y Tl
FAATAHQAATEI P, QA ASTE ART O T BT M, R
Y TSTE AT ST BT FAA AT AR ST BIC I NTHH

TEH BIET 8l Q 3R R T 7T o sfiwr foha safwat it omg 82
a) 1




MISSION SELECTION - SSC 2024

Q.7 Select the correct mirror image of the given

combination when the mirror is placed at MN as

shown.
fu U wae o wE gdur fafee & oee e "
FUUT St MN W @1 =T 8 ST fom = 2ot wam 2

/ h892wWa
emQ6uq ?
r g898ms

5 p8oSms
g 4898 ms




MISSION SELECTION - SSC 2024
Q.8 If 09 April 2023 is Friday.

What will be 30 April 2023?

09 3TIET 2023 T IEHAR 2| 30 3T
2023 Y s AT &7 ghm?

a) FﬁTIEFI'{/Monday

b) SR/ Saturday
¢) AT/ Tuesday

d) ITRAR/Friday



MISSION SELECTION — SSC 2024
Q.9 Which Iletter-cluster will replace the

question mark (?) to complete the given series?
H TS JTT B T FA o T i AT aTen-
e v forg (2) & afaeafua wem?

XAPE, BIBU, 2, JYZA, NGLQ

a) YDVQ
b) PSFKZ

¢) FONK
d) QNAR




MISSION SELECTION - SSC 2024
Q.10 If M denotes ‘—, N denotes ‘~’, O denotes ‘X’ and P

denotes ‘+’, then what will come in place of ‘2’ in the
following equation?/ JREMEAFTAS '-' T, NHTIT "' 2, 0
T 37 'X' B IR P =T e '+ B, A, FeaferRera afiertor o
12" R TAT 9T SRIT AATIT?
BSO13))NIIM27TP3803)P43 M 68="7?
a) 82

b) 88

¢) 92

d) 90



MISSION SELECTION - SSC 2024
Q.11 Which of the following numbers will replace the

question mark (?) in the given series?/
feferiaa & & ot ©t wear € g e ¥ uy g (2)
I TTAeTIud hEM?

8, 16,13, 2,47, 282

a) 58
b) 48
c) 52

d) 55



MISSION SELECTION — SSC 2024
Q.12 Which of the following numbers will replace

the question mark (?) in the given series?
frfeRaa ® & w1 o | €t T8 siEeT | u [g
(?) Tt TfceerTiua saf?
199, 211, 196, ?, 193, 217
a) 205

b) 214
c) 207

d) 210



MISSION SELECTION - SSC 2024

Q.13 Select the option that is related to the fifth number
in the same way as the second number is related to the
first number and the fourth number is related to the

third number.

3O feRrew T o= hIRTT ST UTere 6%aT ¥ 3HT IR O
Heiferd 2 8 TehR | gEdl W&, Ueell 48an # SN =t

AT, Ao ST 9 Hatad 2l
19:80::23:96::16:? a) 76
b) 68
¢c) 70

d) 62



MISSION SELECTION - SSC 2024

Q.14 Select the correct combination of
mathematical signs to replace the * signs and to

balance the given equation.

* Tt ol aget 3R fau 7o weftertur st dqfora s

3 forg i Rergt 3 wret e o s HiRm)
67 *88*8*14*3*19*17

a) ) X, R
b) +9 e Ty X, =y =
C) SRR Xa +9 9~



MISSION SELECTION — SSC 2024
Q.15 Select the Venn diagram that best illustrates

the relationship between the following classes.

AT ARG T TIAT i A7 A TARIT ST % i< &
el ohl GaTH & ¥ 97T 2

Fruit, Apple, Vegetable
W, A, Tost!




MISSION SELECTION - SSC 2024

Q.16 Select the figure from among the given options

that can replace the question mark (?) in the following

(/ﬁ> series. ﬁQWﬁTﬁﬁﬁWMml oI S A




/ e
7/ \o!
L
1ot "‘J v

MISSION SELECTION - SSC 2024

Q.17 A paper is folded and cut as shown. How will it
appear when unfolded?/ qﬁ%aﬁ"ﬂ'ﬁ 31'55%’&3‘ H T

h1 HIgeRT ShTe ohT SHH ST 14T | 98 ST et W)
e faaETg m?




MISSION SELECTION - SSC 2024

Q. 18 The second number in the given number pairs is
obtained by performing certain mathematical operation(s) on
the first number. The same operation(s) are followed in all the
number pairs, EXCEPT one. Find that odd number pair.

Taq 7T Hear gt H gEd @At Ugelt G W T
HToRaTT ohteh TTH hl SITAT ¢l Teh hl BigeRt AT H&am It |
T WIHATST BT STTEOT feha STrat g1 forew wean I 7

RIS
a) 8 : 64

b)8 : 512
¢)6:216
d)4:64




MISSION SELECTION - SSC 2024
Q.19 A paper is folded and cut as shown below.

How will it appear when unfolded?/ Uch <h ISt
<Rt e foaT 7T SR o SR AIST SR et
STAT gl T W 98 hdl [GETE S?




MISSION SELECTION - SSC 2024
Q.20 If I denotes ‘=, J denotes ‘X’, K denotes ‘-’ and L

denotes ‘+’, then what will come in place of °?’ in the

following equation?

gie [T 3T "' B, J HT 37 'X' B, K /T AY '-' § AR L /T ALY

'+ B, A1 e eTRerd GHTeRTor § 12" 3 TATH U ST ATTN?
37L25SK(14J2)L2J13) K(62131)=?

a) 58
b) 56
c) 60
d) 62




MISSION SELECTION — SSC 2024
Q.21 In a certain code language, 'DANCE' is written

as '"ADNEC' and ‘DISCQO’ is written as ‘IDSOC’. How
will 'DREAM'’' be written in that language?/ ueh fHfeE
e HTHT H, 'DANCE' &1 'ADNEC' 3R 'DISCO' Wt
'IDSOC' feT@a ATaT B 3€T e ATETH 'DREAM' &
ot s

a) DREMA
b) RAEMD
¢) RDEAM

d) RDEMA



MISSION SELECTION - SSC 2024

Q.22 Select the option that is related to the fifth term in the same
way as the second term is related to the first term and the fourth

term is related to the third term.

30 farehed &1 T R AT e Ug ¥ 3T TR Heted &, [ TR
IO UE UE U ¥ R ST ug A6 g | HaEted )
GENIUS : IUNGES :: HOLDER : DELHOR :: LIGHTS : ?

a) HTGLIS
b) TGLHSI
¢) TGLSHI
d) HTGLSI




MISSION SELECTION - SSC 2024
Q.23 3wt : fu w7y foreweat ® & forww st =+

DIRECTIONS: Choose the odd one out from

the given alternatives.

A) Td/Sun
B) wiet/Pluto
C) Fgeafd/Jupiter

D) TTA/Mars



MISSION SELECTION - SSC 2024

Q.24 How many triangles are there in this figure?.

70 ateRfa § feReam Freger 2
(=)

a) 32
b) 34
¢) 37
d) 40




MISSION SELECTION - SSC 2024
Q.25 Mohini is taller than Nita but not shorter than

Sarita. Sarita and Malini are of same height. Mohini
is shorter than Hema. Among them, who is the

second tallest ?

HifT, T | ot g wid aiar @ siet T8t 71 afar
TAT HTTeAAT Teh THTT oIS hl 81 HITEHT, AT & BT
21 30 W o T ol i 22

A. WIf&/Mohini

B. HidT/Nita

C. %‘FIT/Hema

D. ATA T {hAT AT AehdT






Join my
ELEGRAM GROUP

£ @reasoningbymodhitsir

Daily PDF of all YT sessions
Discussion / Doubt Solving
Direct Interaction with me
Quiz
@ Polls



